Electronics I * Midterm II * December 05, 2006 * 60 minutes

I have never given nor received any unauthorized help with this exam, nor do [ have reason to believe that anybody else has.
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) Obtain a small-signal equivalent circuit for the amplifier given below. Then find the input resistance,
output resistance and voltage gain of the amplifier.
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2) Find the operating points of the bipolar junction transistors in the circuits given below:

fgﬁiﬁgﬂ. ‘ L-’E.Esﬂ.‘:l-\f
T (2 -0, _ 0,0\ kb ok

2/ 1.. i, Sy wd La= T 80
680k w2 Vee: 222 Te= fIa= ISk mA
5 I
= 2.86
e . Ve = \7 — 2.2 xu. 154 v

2728 <001~
> 1 2.5 wmdA Le= pgo t 250 x\%
t___
it
sgorq 18l Vee. RSV £, 70 xTs " 2.5
N o Lex2s = Y
- Jee= 2
Jo = 9-4T= 4.3 V
El - Ll‘ad___@':!-:gaé*lf

N 3 b A )

iy T ~le
HJ!“-‘ hﬂ-u 'I‘_:.____.—.- Lrlr TE — %ift '31.& H_,‘_,.d’t_ l—ﬂL
S 4H
Megs 2
-t- -—
__xJ.;E '"J"LE = 9 — 3.6 = S.4
5.9 e




3) Find the o i
perating poi
g points of the field effect transistors in the ci
circuits given below:
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